Directions: Find the derivative. Use correction symbolism.
35. f(x)=2x-5
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Directions: Differentiate each function. Show steps with correct symbohsm
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Directions: Find the indicated value or expression. Show steps with correct symbolism.
45.y=3x%y" = |46 f()=Vx+2.f'(®) =" 47. %(xs +5)=2" |48 f@(x) 2x—1,f&(3) =
2 €Y =) =0
Directions: Find an equation of a lme with the following dmaractcnsnm
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Directions: Complete each problem below. A=) =-2(%" ) ,
51. Find the x-values of all points where the graph of
f(x)=3x"'+2x—2hasaslopeof11
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52. Find the x-values of all points where the graph of
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53. Find the x-values of all points where the graph of | 54. Find the average rate of change of the function Z==
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' 55. Find the instantaneous rate of change of the
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56. Find the rate of change of =
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